EARAROBREBRT —5 XN—ZXBISH—F 2023528238 (A) 18EAH4H

mb‘ﬁ%—ﬂﬁ C2mA BRI
[AE%) 1 % :1,000,000 § ~ 237&:400,000 ™  33#%:250,000H . 43#%&:150,000 5 & :100,000 /9
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
57 SUtEHRAT 4 6 gg?gﬁz 1:(4_3).3 9-10-5-3 |39.4| — 1 (5:)3 égg (KH)
REVFOVY B hIYPTF SR IR
O A= T — : -9-10- - PREIEE (KH)
~RILRF 2T 44 B 1(743t)3 11-9-10-10 | 38.9 4 (4+731) L
RiFVyvB/FE+ ST EUFHAT7—L
—n o o SHE 143, -1-1- . - HEe (KH
SYAHRY 1 EI— 5 | BHE 1?13)5 1-1-1-1 [ 39.9 3 (5+131) i )
RFPIPITRATVR B:YISFa—F« AR -
o~ o ARG 52 : -3-4- - =IREREE (/)\IE)
TP IRIS—T 57 £ 1(.14/32.)6 4-3-4-4 | 39.7 2 (4&5) Shan
R:IVIVUARS B:IT7OVR LEXS
» . [E+3f2E] : -2-2- - FHahz (K#H)
slglg|EvTEYFIL—T B4 ks 1.{113).5 2-2-2-2 | 40.2 6 (4+318) hiore
R TI709— B:U-XUrDY3Y A -
. o . 67 - SITEER (KH)
6 5 | FyTRNA 44 am 1.{1343.4 7-6-7-6 | 40.3 10 (5_021) Evaftﬁ'xm
RIZAEIWN=T B:FA NFTRNA WARBUS
— p ~ o4 | RRIEE 1:44.5 13-13-13-12| 39.6 | — 13 | 416 |{EES (KH)
717111 FZIOIARFIY 56.0 (172) @5) | BHEH
R:bwoO0—-U— B:091—-EHUIT BPBHKIS
gls|7| 2V /9va71L 6 | BRS 1(744111)5 3435 |40.8| - | 7 ?_211) Eg:{t@f (IN#)
RINIII7IT—)b B:RATANvE— BRA®TYRSwT - T7—L
< < )18 : -5-8- - E e
9 6| BAIVTILY B4 gl 1(74?1:;3 6-5-8-8 | 40.4 9 (4520) T
RiALYISvoelL B:4—-720V DOIHS
— -~ = 4 | BEARE 1:44.6 14-14-14-14| 39.5 | — 8 71 | BRE KH)
1010 F—9¥nL> 5.0 ar vo) |EEE
RiALYISvoel B:FUyy—TUyF—X =y itve]
g S t 7 | BEXE 1:44.8 7-8-9-9 | 40.6| - 12 | 473 [EBRAUR (k)
1lgli3| ¥azvoey—u 780 & e |TEx
RIIVNRATA—H— B:ALKIU—X HEZS W R
» ~)¥¢ 8 4 | FHFE 1:45.4 5-7-66 | 41.5| — 5 452 | KEFtE (KH)
12 7112| 829 F ¥R 54.0 5 (1) | FEETEES ()
KR:O0394F ®&:9—0#4X0—-X EHHUS
N s 4 | WEET 1:45.7  [12-11-11-11 41,0 | — | 11 | 473 |REEE (KH)
1311 | \YFvE3aT 54.0 11/ 45 |BHE
R:OT94F B:OWFITAUA—F FUAYT7—L
N BERA 145. -12-12- . - o EFEE (KH)
walglial 270wy 2y B4 BER 1(745t§s 10-12-12-13| 41.1 14 (4+432) ECEE%;
RiVELYA— B:FILTa—) HBIT7—LA
@ 11— —BRIEfI
13—7F— 5,8,7,4,12,6,(2,13),9,14,3,1,11,10
20—F— 5,8,4,7,6,2,12,13,3,9,1,14,11,10
BEIES /S 5,8,7,4,9,12,2,6,13,3,1,14,11,10
40—7F— 5,8,9.4,7,(2,12),6,13,3,1,11,14,10
0 ILRE
BB 9 240 JA R 3-9 6004 & 3-6 400 3ER 3-5-9 3,050
B B 9 140 520) 440/ B 6-3 780M4 3Es O35 16,1703
3 320 3-5 1,160 5 & 3-9 1,580
5 210 =51 9-3 2,640

ABIC OV TRUTEREERRODDZE. THRIIZEL.



